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1.epug;Gf:  +2 Madurai Dist. I Revision 2018 gFjp-m  30x1=30 
1. ,Ug;gha;it 
2. el;lk; 
3. nrhj;J 
4. epfukjpg;G  
5. xw;iwgjpT 
6. Mz;Lj; njhif  
7. & 7 60 000 
8. tpfpjhr;rhuk; 
9. epjpapay; 
10. nrhj;J 
11. nghWg;G 
12. el;l 
13. midj;J  
14. tpfpj msT mbg;gilapy; 
15. fiyg;gpd;  
2.rhpahd tpil: 
16.(m) Kjy; 
17.(,) & 1710 
18.(m) nkhj;jf; fldPe;Njhh; f/F 
19.(M) & 1 65 000 
20.(,) epiyawpf;if 
21.(M) ,aw;if fdpk tsq;fs; 
22.(M) & 5420 
23(,) gzk; kw;Wk; myFfspd; vz;zpf;if 
24.(M) elg;G f/F 
25.(,) $l;lhsp tpyfypy;  
26.(M) tq;fp Nky;tiu gw;W 
27.(M) gioa $l;lhspfSf;F kl;Lk; 
28.(M) FiwAk; 
29.(m) miof;fg;gl;l Kjypy; fopj;J fhl;lg;gLk; 
30.(M) & 50 000         gFjp-M 
VNjDk; gj;J tpdhf;fSf;Ftpilasp: 10x5=50 
31. rhpf;fl;Lg; gjpT ,Wjpf; fzf;Ffs; jahhpf;Fk; NghJ 
Nrh;f;fg;gl Ntz;ba rhpf;fl;Ljy;fis fzf;NfLfspy; 
nfhz;LtUtjw;F nra;ag;gLk; Fwpg;Ngl;Lg; gjpTfs; 
rhpf;fl;Lg; gjpTfs; vdg;gLk;. 
32. khw;Wjy; Kiw: xw;iw gjpT Kiwapy; cs;s 
gjpTfisf; nfhz;L tpahghuf; f/F> ,yhgel;l f/F 
jahhpf;fg;gLtJ khw;Wjy; KiwahFk;. 
33. kWkjpg;gPl;L Kiwapy; Nja;khdk; : ,k; Kiwapy; 
tpL fUtpfs; Nghd;w nrhj;Jf;fspd; Mz;L ,Wjp kjpg;G 
Mz;L njhlf;f kjpg;NghL xg;gplg;gLfpwJ. 
,uz;Lf;FKs;s NtWghL Nja;khdkhf fUjg;gLfpwJ. 
34. tpfpjk; : Xh; ,dk; kw;nwhU ,dj;NjhL ngw;wpUf;f 
$ba cwtpid vspa fzpjtpay; Kiwapy; $Wtij 
tpsf;FfpwJ. – nfd;db kw;Wk; Nkf;kPyd;. 
35. nuhf;fj;jpl;lg;gl;bay;;: ,J vjph; fhyj;jpy; Vw;glf; 
$ba nuhf;fg; ngWjy; kw;Wk; nuhf;fr; nrYj;jy;fs; 
Fwpj;j xU mwpf;ifahFk;. ,jid epjpj;jpl;lg;gl;bay; 
vd;Wk; miof;fyhk;. 
36. cah; ,yhgk;: rhjhuz ,yhgj;ij tpl $Ljyhf 
ngwf;$ba ruhrhp ,yhgNk cah; ,yhgk; vdg;gLfpwJ. 
37. miog;G epYit: rpy Neuq;fspy; gq;Fjhuh;fs; 
miog;Gj; njhifia nrYj;jj; jtwptpLth;. epWkk; 
tpLj;j miog;Gfs; kPJ ngwg;glhj njhifapd; nkhj;jk; 
miog;G epYit MFk;. 
38.rhpfl;L gjpT kw;wk; khw;W gjpT: 

  Nja;khd f/F g          6000 

           fzpg;nghwp f/F              6000 

,yhg el;l  f/F   g      6000 

         Nja;khd f/F                6000 
39.,yhgk; / el;lk; fz;lwpf:         & 
     ,Wjp Kjy;                30000 
     vLg;G                     18000  
                              48000 
     $Ljy; Kjy;               10000 
                              38000 
     njhlf;f Kjy;              50000 
        el;lk;                  12000 
 

40.,ae;jpuj;jpd; kjpg;G             120000 
  (-) Kjyhk;Mz;L Nja;khdk;       12000  
                              108000 
  (-) 2k; Mz;L Nja;khdk;          10800                            
                               97200 
  (-) 3k; Mz;L Nja;khdk;           9720 
         Vl;L kjpg;G             87480 
         tpw;w tpiy             90000   
          ,yhgk;                2520         
41. ePh;ik tpfpjk; = ePh;ik nrhj;Jf;fs; 
              elg;G nghWg;Gfs; 
       = elg;G nrhj;Jf;fs;-(ruf; +Knrnr) 
             elg;G nghWg;Gfs;  
 
    = 20000 – 4000  = 16000  =   2 : 1 
          8000       8000 
42. brk;gh; khj nuhf;fj;jpl;lg;gl;bay;                 
                        brk;gh;  & 
njhlf;f nuhf;fapUg;G            20000 
$l;Lf.(ngWjy;fs;)tpw;gid   200000 
mYtyf nghwp tpw;wJ          12000 
                            232000 
fopf;f nfhs;Kjy; 140000 
      miwfyd;   5000        145000 
      ,Wjpnuhf;fapUg;G         87000  
    N`kh : gj;kh:  ghkh 

43. vLg;G kPjhd tl;b fz;f;fpLf: 
fkyh vLg;G kPJ tl;b=nkhj;jvLg;Gfs; x tl;b tPjk; x fhyk; 

                         = 24000 x  8x 13  =& 1040 
                   100 24 
  tpkyhvLg;G kPJ tl;b = nkhj;j vLg;Gfs; x tl;b tPjk; x fhyk; 

                        = 36000 x  8 x 11   =&1320 
                      100   24 
44. tq;fp f/F   gw;W     160000 
   g.ntspaPl;Ljs;Sgbf/F  40000 
            gq;F Kjy;  f/F    200000 
 (gq;Ffis js;Sgbapy; ntspapl;l gjpT) 
 45.(m)rhpfl;lg;gjpTfs; : 
ehs;   tptuk;             gw;W    tuT 
     thuhf;fld; f/F   g   4000 
       gw;gyfldhspfs; f/F        4000 
 (thuhf;fld; Nghf;nfOjpaJ Fwpj;J) 
     ,yhgel;l f/F  g    3000 
       thuhIafld;xJf;Ff/F       3000 
    (thuhIafld;xJf;F Fwpj;J) 
      
----- Mz;bw;Fhpa yhgel;l fF 
thuhfld;                       5000 
thuh fld; Nghf;F                4000 
fldhspfs; kPjhd [af;fld; xJf;F  3000 
                              12000 
(-) gioa xJf;F                 10000 2000 
-----  Mz;bw;Fhpa ,Ug;Gepiyf;Fwpg;G 
                    nrhj;Jfs; : 
  gw;gyfldhspfs;              64000 
(-)thuhfld;                     4000 
                             60000 
(-)thuhIafld; xJf;F             3000  57000 
                              
45(M) ,WjpKjy; fzf;fPL: epiyawpf;if : 
nghWg;gfs;   njhif   nrhj;Jfs;  njhif 
fldPe;Njhh;    20000    nuhf;fk;      25000 
nr.kh.rP.      15000    tq;fp        15000 
nfh.glNtnryT 5000  ruf;fpUg;G    85000 
                    fldhspfs;   65000 
,WjpKjy;    195000   m rhjdq;fs; 45000 
            235000              235000 
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          ,yhgel;l mwpf;if 
  ,WjpKjy;           195000 

(+)vLg;Gfs;             30000  
                     225000 
(-)$Ljy; Kjy;          40000 
                     185000 
(-)njhlf;fKjy;         215000 
        el;lk;         30000 
46.Nja;khdk;: fhHlH mtHfspd; $w;Wgb Nja;khdk; 
vd;gJ vf;fhuzj;jpdhYk; xU nrhj;jpd; kjpg;gpYz;lhFk; 
gbg;gbahd epiahd FiwNt Nja;khdk; MFk;.  
mfk;: 1.Nja;T GydhFk;nrhj;Jfis njhlh;e;J 
gad;gLj;Jtjhy; Nja;Tfhuzkhf Nja;khdk; Vw;gLfpwJ. 
2.cgNahfpf;fg;glhik njhlHe;J xU,ae;jpuj;ij 
gad;gLj;jhky; ,Ue;jhy; mJ jd;cgNahfj;jd;ikia 
,oe;J tpLfpwJ 
3.guhkhpg;G,d;ik xU,ae;jpuk; rhptu 
guhkhpf;fg;gltpy;iynadpy; mJ jd;cgNahfj;jd;ikia 
tpiuthf ,oe;J tpLfpwJ 
4.ntWikahjy;:Ruq;fq;fs; vz;nza;fpzWfs;  
Nghd;wtw;wpypUe;J fdpk tsq;fis njhlHe;J ntspNa 
vLg;gjhy; mJ jd; kjpg;ig ,of;fpwJ. 
Gwk;: 1.tof;nfhopT: Gjpafz;Lgpbg;Gfs; Kd;Ndwpa 
nra;Kiwfs; njhopy; El;g tsHr;rp Nghd;wit 
fhuzkhf gioa nrhj;Jfs; gadw;wit Mfpd;wd.               
2.fhyg;Nghf;F: nrhj;Jf;fisgad;gLj;jhtpl;lhYk; 
gUtkhw;wk; fhw;W kioNghd;w,aw;iffhuzpfshy;kjpg;G 
FiwfpwJ. 
3.fhyepHzak;: Fj;jif gjpg;Ghpik jdpAhpik Nghd;wit 
Fwpg;gpl;l fhyj;jpw;F ngwg;gLfpd;wd.Fwpg;gpl;l fhyk; 
fle;j gpwF ,t;tif nrhj;Jfs; kjpg;ig ,oe;J 
tpLfpd;wd. 
47.nuhf;fj; jpl;lg;gl;bay; : vjpH fhyj;jpy; Vw;glf;$ba 
nuhf;f ngWjy;fs; kw;Wk; nuhf;fnrYj;Jjy;fs; Fwpj;j 
xU mwpf;if MFk;.xU Fwpg;gpl;l fhyj;jpy; Vw;gLk; 
nuhf;f ngWjy;fs; kw;Wk; nrYj;Jjy;fis 
nuhf;fjpl;lg;gl;bay; fhz;gpf;fpwJ. ,jid 
epjpjpl;lg;gl;bay; vd;W miof;fyhk;. 
epiy1 njhlf;fnuhf;fapUg;ig vLj;Jf;nfhs;f. 
epiy2 mk; khjj;jpy; ngwNtz;ba midj;J nuhf;fg; 
ngWjy;fis kjpg;gpl;Lf; $l;Lf 
epiy3 mk;khjj;jpd; nkhj;j nuhf;fapUg;ig fzf;fpLf 
epiy4 mk;khjj;jpd; nkhj;j nuhf;f nrYj;Jjy;fis 
fopf;f 
epiy 5 ,Wjp nuhf;fapUg;ig fzf;fpLf. 
49.ABC epWtdk; VLfspy; :     ,ae;jpu f/F 
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
1-4-11 tq;fpf/F    300000  31-3-12Nja;khdf/F   45000 
                            ,Ug;G fP,   255000 
                300000                   300000 
1-4-12 ,Ug;G fP/nfh 255000 31-3-13 Nja;khdf/F   45000 
                           ,Ug;G fP,    210000 
                255000                   255000 
1-4-13 ,Ug;G fP/nfh 210000 31-3-14Nja;khd f/F   45000 
    , / e f/ F     15000      tq;fp        180000  
                225000                  225000 
                 Nja;khd fF  
31-3-12,ae;jpu f/F  45000 31-3-12 yhgel;l f/F   45000 
                 45000                   45000 
31-3-13,ae;jpu f/F  45000 31-3-13 yhgel;l f/F  45000 
                 5000                   45000 
31-3-14,ae;jpu f/F  45000 31-3-14 yhgel;l f/F  45000 
                 45000                   45000 
50. 1)nkhj;j yhg tpfpjk; = nkhj;j yhgk; x 100 
                       tpw;gid 

  = 320000 x 100 = 40% 
                       800000 
2)epfu yhg tpfpjk;      = epfu yhgk; x 100 
                       tpw;gid 
                      = 16000 x 100 = 20% 
                        800000 

 3),af;f yhg tpfpjk;     = ,af;f yhgk; x 100 
                             tpw;gid 
 nkhj;j ,yhgk; - ,af;fr;nryTfs;   
 = ------------------------------------------------------------------------------------x 100 
                 tpw;gid 
,af;f nryTfs; = mYtyfr; nryTfs; + tpw;gidr; nryTfs; 
              = 50000+ 70000 = & 120000 

  ,af;f yhg tpfpjk;  = 320000 -120000 x 100    =25% 
                        800000  
51.      ,yhg el;l gfpHT fzf;F 
Kjy;kPJtl;b uhK 4800      epfuyhgk; fPnfh   72000 
         Nrh  3600 8400  vkPJtl;b uhK600 
Cjpak;uh8000Nr12000   20000           Nrh400  1000 
fopT     uhK        7000 
,yhgg;gq;F22560      37600 
         15040    -------------               ------------- 
                  73000                  73000 
               Kjy; fzf;F 
             uhK NrhK             uhK  NrhK 
vLg;G         15000 10000  ,Ug;GfPnfh  80000  60000 
vLg;GkPJtl;b    600   400  Kjy;kPJtl;b  4800  3600 
,Ug;G fP,     106760 80240 Cjpak;       8000 12000 
                       fopT         7000 
                       ,yhgghq;F   22560 15040 
             --------- ----------           ----------  ----------- 
            122360 90640             122360 90640 
 
52. tptuk;                gw;W     tuT 
gq;FKjy; f/F g. 
     gq;F xWg;gpog;G f/F  
     gq;FKjy; miog;G f/F 
     gq;F ,Wjp miog;G f/F 

50000  
25000 
15000 
10000 

tq;fp f/F g. 
gq;FxWg;gpog;G f/F g. 
         gq;FKjy; f/F 

24000 
 6000 

 
 
30000 

gq;F xWg;gpog;G f/F g. 
       gq;F Kjypdfhg;G 

9000  
9000 

gq;F xWg;gpog;G f/F 
gq;FKjy;     6000  gq;FKjy;      25000 
Kjypdfhg;G   9000               
,Ug;GfP/,    10000 
            25000                25000 
           Kjypd fhg;G f/F 
,Ug;G fP/,   9000  gq;FxWg;gpog;G   9000 
          -----------             ------------- 
           6000                 6000 

gFjp - <   
53.m)      nkhj;j fldhspfs; fzf;F 

,Ug;GfP/nfh    --      ngw;wnuhf;fk;  120000 
                    mspj;jjs;Sgb 4000 
                   tpw;gidj;jpUg;gk; ----- 
 fld; tpw;gid 199000 ,Ug;G fP/,     75000             
             199000              199000  

nkhj;j fldPe;NjhH fzf;F 
nrYj;jpa nuhf;fk;  175000   ,Ug;GfP/nfh    ----- 
ngw;wjs;Sgb        
nfhs;Kjy;jpUg;gk;     
,Ug;G fP/,        50000  fld; nfhs;Kjy; 225000 
               --------------               --------------- 
                225000                225000 

 
tpahghu ,yhg el;l fzf;F 

njhlf;fr; ruf;fpUg;G   25000 tpw;gid fld;  199000      
fld;nfhs;Kjy; 225000       
nuhf;fk;        50000 275000  nuhf;fk;  100000 299000 
cs; Vw;wp nryT       4500 ,Wjpruf;fpUg;G    35000 
nkhj;jyhgk; fP/,     54500 
                 334000                334000 
                 --------------             ---------------- 
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miwfyd;Nja;khdk;    1200 nkhj;jyhgk;fPnfh  54500 
mspj;js;Sgb         4000  
rk;gsk;              5000 
mYtyf nryTfs;    3000 
epfuyhgk;           41300 
                  -------------             -------------- 
                   54500               31250 
                  -------------             -------------- 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;                nrhj;Jfs; 
Kjy;    75000             nuhf;fk;       43900 
(-)vLg;Gfs;21000             fldhspfs;    75000 
(+)epfuyhgk;41300  95300      miwfyd;12000 
fldPe;NjhH       50000      Nja;khdk; 1200 10800 
fld;           15000      ,Wjpruf;fpUg;G  35000 
mehkj;J f/F    4400                      
              ----------------               ----------------- 
               164700                164700 
              ----------------               ----------------- 
 
53.M)kWkjpg;gPL fzf;F 
g                                          t 
,ae;jpuk;      16000       gjpTngwh KjyPL   12000 
fldhspfs;     2000       el;lk;  m 3500 
                              K 2500     6000 
             18000                       18000 

Kjy; f/F 
       mfkJ  KfkJ           mfkJ  KfkJ 
,yhgel;l  28000  20000      ,Ug;GfPnfh 120000 80000  
kWkjpg;gPL 3500    2500      nghJf;fhg;G 42000 30000 
fld; f/F       97500njhopyhsh;<njhif 14000 10000 
,Ug;G fP/,144500              
     ---------------------------------------    -------------------------------------- 
         176000 120000              176000 120000 
               ,Ug;Gepiyf;Fwpg;G  
     nghWg;Gfs;            nrhj;Jfs; 
fldPe;NjhH      40000   ,ae;jpuk;(160000-16000) 144000 
njhop < njh    36000   fldhspfs;(40000-2000)  38000 
Kjy;fF                 KjyPLfs;         12000  
   mfkJ      242000       tq;fp          52000 
                     ruf;fpUg;G            72000 
              318000                     318000 
54. jpUkjp. n[auh[; mtHfspd; 31.03.2012 ehNshL 
KbtilAk; Mz;bw;Fhpa tpahghuyhgel;l f/F 
njhlf;fr; ruf;fpUg;G 60000  tpw;gid 160000 
nfhs;Kjy; 120000         (-) jpUg;gk;10000   150000 
(-) jpUg;gk;   5000  115000   ,Wjpruf;fpUg;G    75000 
nfhs;Kjy; thp      10000 
nkhj;jyhgk;fP.,     40000 
                 --------------             ---------------- 
                 225000               225000 
thlif  3500              nkhj;jyhgk;    40000  
(+) nfhNt1500        5000   vLg;G kPJ tl;b  4200 
nghJr;nryTfs; 8000 
(-) K$nr      1300   7200 
fld; kPjhd tl;b 2500 
(+) nfh.glNt    2000   4500 
fl;blk; kPjhd Nja;khdk; 7500 
tpwgid thp          10000  
epfu yhgk;           10000 
                  --------------              ------------ 
                  44200                44200 
         ,Ug;Gepiyf;Fwpg;G  
     nghWg;Gfs;                nrhj;Jfs; 
Kjy;   250000             tq;fp           55000 
epfuyhgk; 10000           ifnuhf;fk;        18000 
       260000            fl;llk;10000(-)7500  67500 
(-)vLg;G  70000            fldhspfs;       44000 
       190000             ng.kh.rP         8500                  
(-)vkPt   4200   185800     ,Wjpruf;fpUg;G    75000 
nfhLglNt thlif 1500    Kd;$l;bnr.nghJnr 1300 
tq;fpfld;45000+2000 47000    miwfyd;       5000 

g.fldPe;Njhh;       40000       
                274300                   274300 
  
55. (1)elg;G tpfpjk; = elg;G nrhj;Jfs; 
                 elg;GnghWg;Gfs; 
            = 24000+8000+ 16000+32000 
               40000+16000 
               =  80000 =   1.42 : 1 
                  56000             
(2)ePHik tpfpjk;=;   ePHikr;nrhj;Jfs; 
               elg;G nghWg;Gfs; 
             = (80000 – 32000)=48000 
           =   48000 =    0.86 : 1       
               56000 
 
3)GwmfnghWg;Gtpfpjk; = nkhj;jePz;lfhyfld; 
                        gq;FjhuHepjp 
            =           fld; 
                   gq;FKjy;+fhg;Gfs; 
           =       64000       =  64000 
             80000 + 40000        120000 
                 =  0.53 :1 
4)chpikahsH tpfpjk; =       gq;fjhuhfspd; epjp 
                    nkhj;jGydhFk;nrhj;Jfs; 
            =                (80000+ 40000) 
                   24000+8000+16000+32000+ 112000 
                        
                        =120000 = 0.625 : 1 
                         192000 
 56. mf; et brk;gh; 2014f;fhd nuhf;fjpl;lg;gl;bay; 
tptuk; mf; & et & brkgh; 

 & 
nuhf;f,Ug;G 
(+)jpl;lkplg;gl;lnuhf;fg;
ngWjy;fs; 
ngw;w nuhf;fk; 

100000 
 
 
120000 

390000 
 
 
140000 

460000 
 
 
1600000 

 1300000 1790000 2060000 

(-) jpl;kplg;gl;lnuhf;f      
nrYj;Jjy;fs; 
mspj;jnjhif 
nryTfs; 
nrhj;J thq;fg;gl 

 
 
800000 
 110000 

 
 
120000 
 130000 

 
 
 300000 
 150000 
 150000 

 910000 1330000 1100000 
,WjpapUg;G  390000 460000 960000 
 
57)xU epWk tiuaW epWkj;jpd; VLfspy; Fwpg;Ngl;Lg;gjpTfs; 
ehs;      tptuk;            gw;W &  tuT &  
       tq;fp f/F     g      180000 
         gq;Ftpz;zg;g fF          180000 
(gq;FfSf;Ftpz;zg;gg;gzk; ngwg;gl;lJ ) 
        
   gq;Ftpz;zg;g f/F   g    180000 
          gq;FKjy;f/F            180000 
(gq;F tpz;zg;gj;njhif Kjy; fzf;fpw;F khw;wg;gl;lJ) 
      
     gq;F xJf;fPL f/F  g   360000  
          gq;F Kjy; f/F           360000 
           
      
        tq;fp f/F   g      360000 
           gq;f xJf;fPL f/F          360000 
     (xJf;PL gzk; ngw;wJ Fwpj;J) 
         
     gq;FKjy; ,Wjpmiog;G f/F g 360000 
           gq;FKjy; f/F              360000 
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       tq;fp f/F       g 350000 
       miog;GepYit f/Fg. 10000           
      
            gq;F Kjy; ,Wjpmiog;G f/F  360000 

xU tiuaW epWkj;jpd; NgNuL f/F 
g              tq;fp fF                   t 
tpz;zg;g f/F     180000    
gq;FxJf;fPLf/F    360000   ,Ug;G fP,      890000 
Kjy;,Wjpmiog;GfF350000 
                                 
              ----------------- 
              890000                   890000 
              -------------                  ------------- 
           gq;FKjy; f/F 
,Ug;G fP,   900000       g.tpz;zg;g f/F  180000    
                        gq;FxJf;fPLf/F 360000    
                    g.Kjy; ,Wjpmiog;GfF360000 
                      
           900000                      900000 
                       ,Ug;G fP/nfh    900000 
             
           ,Ug;Gepiyf;Fwpg;G 
       
      nghWg;Gfs;          nrhj;Jfs; 
 
ntspaPlg;gl;l  
gq;FKjy;f/F     1000000      tq;fpf/F    890000 
xg;gpaJ  900000 
(-) miog;G  
  epYit10000     890000                
                -------------              ---------------- 
               890000                  890000 
               ---------------               ---------------- 


